Institut für Angewandte Analysis und Stochastik

im Forschungsverbund Berlin e.V.

Stability of bifurcating periodic solutions of differential inequalities in \mathbb{R}^3

M. Kučera

submitted: 22nd February 1994

Mathematical Institute of the Academy of Sciences of the Czech Republic Zitna 25 Praha 1, 115 67 Czech Republic

> Preprint No. 89 Berlin 1994

1991 Mathematics Subject Classification. 34A40, 58F14, 34C25, 58F10.

Key words and phrases. Ordinary differential inequality, bifurcation of periodic solutions, stability, attractivity.

Edited by Institut für Angewandte Analysis und Stochastik (IAAS) Mohrenstraße 39 D — 10117 Berlin Germany

Fax: + 49 30 2004975 e-mail (X.400): c=de;a=d400;p=iaas-berlin;s=preprint e-mail (Internet): preprint@iaas-berlin.d400.de

Abstract

A bifurcation problem for the inequality

$$\begin{cases} U(t) \in K \\ (\dot{U}(t) - A_{\lambda}U(t) - G(\lambda, U(t)), V - U(t)) \ge 0 \text{ for all } V \in K, \text{ a.a. } t \in [0, T) \end{cases}$$

is considered, where K is a closed convex cone in \mathbb{R}^3 , A_{λ} a real 3×3 matrix, λ a real parameter, G a small perturbation. We investigate small periodic solutions bifurcating at λ_0 from the branch of trivial solutions and corresponding to parameters λ for which the trivial solution is unstable. It is proved that these solutions are stable or they are contained in a certain attracting set A_{λ} if zero is stable as the solution of our inequality with $\lambda = \lambda_0$.

0. INTRODUCTION

Let K be a closed convex cone with its vertex at the origin in \mathbb{R}^3 , A_{λ} a real 3×3 matrix, λ a real parameter, G a small perturbation (precisely see assumptions below). Consider the inequality

(I)
$$\begin{cases} U(t) \in K \\ (\dot{U}(t) - A_{\lambda}U(t) - G(\lambda, U(t)), V - U(t)) \ge 0 \text{ for all } V \in K, \text{ a.a. } t \in [0, T). \end{cases}$$

It is proved in [2], [3], [5] that under certain assumptions there exists a bifurcation point λ_0 of (I) at which periodic solutions of (I) bifurcate from the branch of trivial solutions. While an elementary approach based on geometrical ideas is used in [2] for inequalities in \mathbb{R}^3 , more complicated methods describing the situation in \mathbb{R}^n are given in [3], [5].

The aim of this paper is to show that in some cases the bifurcating solutions lying in the domain of instability of the trivial solution are stable in a certain sense. We shall consider a situation when the trivial solution of the linearized inequality

(LI)
$$\begin{cases} U(t) \in K \\ (\dot{U}(t) - A_{\lambda}U(t), V - U(t)) \ge 0 \text{ for all } V \in K, \text{ a.a. } t \ge 0 \end{cases}$$

losses its stability at λ_0 (the assumption (λ_+) below) and zero is attracting for (I) with $\lambda = \lambda_0$ (the asumption (A)). We shall show that if there is unique small (nontrivial) periodic solution of (I) for a given λ lying in the domain of instability of the trivial solution of (LI) (and close to λ_0) then this unique solution is asymptotically stable (Theorem 1.1). This is a certain analogy of the situation in case of the classical Hopf bifurcation for equations (see e.g. [4], [6]). Unfortunately, the set of bifurcating solutions can be more complicated. In the general case, bifurcating periodic solutions are contained in a certain attracting set A_{λ} (Theorem 1.2) which can be described precisely in some special situations (Remark 1.4). In fact, our assumptions do not guarantee the existence of bifurcating solutions near λ_0 , but they can be supplemented such that λ_0 is really a bifurcation point (Section 2).

Typeset by $\mathcal{A}_{\mathcal{M}}\mathcal{S}\text{-}T_{E}X$

This investigation was initiated during the author's month's stay in IAAS, Berlin. The author would like to express his thanks to Dr. K. R. Schneider for this fruitfull stay and for stimulating discussions.

1. MAIN RESULTS

Notation 1.1.

 $(U, V) = \sum_{i=1}^{3} u_i v_i, |U|^2 = (U, U) \text{ for } U = [u_1, u_2, u_3], V = [v_1, v_2, v_3], \\ W_j(\lambda) \text{ - eigenvectors of } A_{\lambda}, W_{1,2}(\lambda) = U_1(\lambda) \pm iU_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_j(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_3(\lambda) \in \mathbb{R}^3 \ (j = U_1(\lambda) + U_2(\lambda), W_3(\lambda) = U_3(\lambda) \text{ with } U_3(\lambda) \in \mathbb{R}^3 \ (j = U_3(\lambda) + U_3(\lambda) + U_3(\lambda) + U_3(\lambda) \text{ with } U_3(\lambda) = U_3(\lambda) + U_3(\lambda) = U_3(\lambda) \text{ with } U_3(\lambda) = U_3(\lambda) + U_3(\lambda) =$ 1, 2, 3),

 $U_{\lambda}(\cdot, V), U_{0,\lambda}(\cdot, V)$ - the solution of (I), (LI), respectively, (i.e. the absolutely continuous function satisfying (I) or(LI)) with the initial condition V for t = 0,

 $x_{\lambda}^{j}(\cdot, V)$ - the coordinates of $U_{\lambda}(\cdot, V)$ with respect to $U_{j}(\lambda)$, $S_{\lambda} = Lin\{U_3(\lambda)\},\$

 $P_{\lambda}V = x_{\lambda}^{1}(V)U_{1}(\lambda) + x_{\lambda}^{2}(V)U_{2}(\lambda)$ for any $V = \sum_{j=1}^{3} x_{\lambda}^{j}(V)U_{j}(\lambda)$ (the projection onto the plane $Lin\{U_1, (\lambda), U_2(\lambda)\})$

 $\rho_{\lambda}(\cdot, V), \varphi_{\lambda}(\cdot, V)$ - continuous functions defined by

$$P_{\lambda}U_{\lambda}(t,V) = \rho_{\lambda}(t,V)[\cos(\varphi_{V} - \varphi_{\lambda}(t,V))U_{1}(\lambda) + \sin(\varphi_{V} - \varphi_{\lambda}(t,V))U_{2}(\lambda)]$$

for $t \in [0, t_0)$ if $U_{\lambda}(t, V) \notin S_{\lambda}$ on $[0, t_0)$, where φ_V satisfies

$$P_{\lambda}V = \rho_{\lambda}(0, V)[\cos\varphi_{V} \cdot U_{1}(\lambda) + \sin\varphi_{V} \cdot U_{2}(\lambda)]$$

(i.e. polar coordinates of $U_{\lambda}(t, V)$ but with the angle measured from the ray given by V), $\rho_{0,\lambda}(\cdot, V), \varphi_{0,\lambda}(\cdot, V)$ are defined analogously but by using $U_{0,\lambda}(\cdot, V)$ instead of $U_{\lambda}(\cdot, V)$,

$$t_{\lambda}(V) = \inf\{t_0; U_{\lambda}(t, V) \notin S_{\lambda} \text{ for } t \in [0, t_0], \varphi_{\lambda}(t_0, V) = 2\pi\},\$$

$$t_{0,\lambda}(V) = \inf\{t_0; U_{0,\lambda}(t,V) \notin S_\lambda \text{ for } t \in [0,t_0], \varphi_{0,\lambda}(t_0,V) = 2\pi\},\$$

$$t_{\lambda}^{k}(V) = \inf\{t_{0}; U_{\lambda}(t, V) \notin S_{\lambda} \text{ for } t \in [0, t_{0}], \varphi_{\lambda}(t_{0}, V) = 2k\pi\},\$$

$$g_{\lambda}(V) = \frac{x_{\lambda}^{3}(V)}{\sqrt{(x_{\lambda}^{1}(V))^{2} + (x_{\lambda}^{2}(V))^{2}}} \text{ for } V \in \mathbb{R}^{3} \setminus S_{\lambda}, V = \sum_{j=1}^{3} x_{\lambda}^{j}(V)U_{j}(\lambda).$$

We shall consider a fixed λ_0 such that the eigenvalues $\mu_1(\lambda), \mu_2(\lambda), \mu_3(\lambda)$ and the corresponding eigenvectors $W_1(\lambda), W_2(\lambda), W_3(\lambda)$ of A_{λ} depend continuously on $\lambda \in [\lambda_0, \lambda_0 + \varepsilon]$ (for some $\varepsilon > 0$) and satisfy the following assumptions:

$$(\mu) \qquad \mu_{1,2}(\lambda) = \alpha(\lambda) \pm i\beta(\lambda), \beta(\lambda) > 0, \alpha(\lambda) > \mu_3(\lambda), \ \mu_3(\lambda) < 0 \text{ for all } \lambda \in [\lambda_0, \lambda_0 + \varepsilon].$$

Particularly, it follows from (μ) that the solutions of the equation $U(t) = A_{\lambda}U(t)$ circulate around the axis $U_3(\lambda)$ (with the exception of those starting at this axis).

2

Further, we shall suppose that for any fixed λ , our cone K can be described by a finite number N of functions f_{λ}^{j} as follows (cf. [2]):

for any $\lambda \in [\lambda_0, \lambda_0 + \varepsilon]$ there are continuous convex functions $f_{\lambda}^j : \mathbb{R}^2 \to \mathbb{R} \ (j = 1, ..., N)$ continuously differentiable on $\mathbb{R}^2 \setminus [0, 0]$ such that $f_{\lambda}^j(rx_1, rx_2) = rf_{\lambda}^j(x_1, x_2)$ for all $r > 0, [x_1, x_2] \in \mathbb{R}^2$, $K = \{U = \sum_{i=1}^3 x_i U_i(\lambda); x_3 \ge f_{\lambda}^j(x_1, x_2), j = 1, ..., N\}$ for any $\lambda \in [\lambda_0, \lambda_0 + \varepsilon]$, $K \neq \{U = \sum_{i=1}^3 x_i U_i(\lambda); x_3 \ge 0\}$ for any $\lambda \in [\lambda_0, \lambda_0 + \varepsilon]$, for any $V \in K, V \neq 0, \lambda \in [\lambda_0, \lambda_0 + \varepsilon]$ there is a pair of indices $1 \le k \le j \le N$ and a neighbourhood $\mathbb{U}(V)$ of V such that $\mathbb{U}(V) \cap K = \{U \in \mathbb{U}(V);$ $U = \sum_{i=1}^3 x_i U_i(\lambda), x_3 \ge f_{\lambda}^k(x_1, x_2), x_3 \ge f_{\lambda}^j(x_1, x_2)\}$ for $\lambda \in [\lambda_0, \lambda_0 + \varepsilon]$.

(The last condition means that in a neighbourhood of a given point, K can be described by one or two functions.)

It will be always supposed that the nonlinearity G satisfies the conditions

(G)
$$\lim_{|U|\to 0} \frac{|G(\lambda, U)|}{|U|} = 0 \text{ uniformly for } \lambda \in [\lambda_0, \lambda_0 + \varepsilon],$$

(L)
$$\begin{cases} \text{for any } R > 0 \text{ there exists } C > 0 \text{ such that} \end{cases}$$

$$|G(\lambda, U_1) - G(\lambda, U_2)| \le C|U_1 - U_2| \text{ for all } \lambda \in [\lambda_0, \lambda_0 + \varepsilon], |U_1|, |U_2| \le R.$$

We shall assume that it is possible to choose V_{λ} such that

(V)
$$\begin{cases} V_{\lambda} \in \partial K, |V_{\lambda}| = 1, g_{\lambda}(V_{\lambda}) = \max_{0 \neq V \in \partial K} g_{\lambda}(V) \text{ for all } \lambda \in [\lambda_{0}, \lambda_{0} + \varepsilon], \\ V_{\lambda} \text{ depend continuously on } \lambda \in [\lambda_{0}, \lambda_{0} + \varepsilon]. \end{cases}$$

Notice that for any fixed $\lambda \in [\lambda_0, \lambda_0 + \varepsilon]$, there exists always at least one V_{λ} satisfying the conditions from the first line of (V). This V_{λ} represents the ray in ∂K which is the closest one to S_{λ} with respect to the inner product

$$\langle U, V \rangle_{\lambda} = \sum_{j=1}^{3} x_{\lambda}^{j}(U) x_{\lambda}^{j}(V) \text{ for } U = \sum_{j=1}^{3} x_{\lambda}^{j}(U) U_{j}(\lambda), V = \sum_{j=1}^{3} x_{\lambda}^{j}(V) U_{j}(\lambda).$$

Hence, (V) is fulfilled automatically if the eigenvectors are independent of λ . But in the general case, the continuity condition need not to be fulfilled.

Further, we shall suppose that the solutions of the linearized inequality (LI) circulate around the axis $U_3(\lambda)$ for $\lambda \in [\lambda_0, \lambda_0 + \varepsilon]$, there is a periodic solution of (LI) for $\lambda = \lambda_0$, the trivial solution of (I) for $\lambda = \lambda_0$ is asymptotically stable and the trivial solution of (LI) for $\lambda \in (\lambda_0, \lambda_0 + \varepsilon]$ is unstable. Precisely, we demand (λ_0)

 $U_{0,\lambda_0}(\cdot, V_{\lambda_0})$ is periodic, $t_{0,\lambda}(V) < T_0$ for all $V \in \partial K$, $\lambda \in [\lambda_0, \lambda_0 + \varepsilon]$ (with some $T_0 > 0$),

$$(\lambda_{+}) \qquad \qquad \lim_{t \to \infty} |U_{0,\lambda}(t, V_{\lambda})| = +\infty \text{ for all } \lambda \in (\lambda_{0}, \lambda_{0} + \varepsilon],$$

(A) there is
$$R > 0$$
 such that $\lim_{t \to +\infty} |U_{\lambda_0}(t, V)| = 0$ for all $V \in K, |V| < R$.

Remark 1.1. Particularly, it follows from (K) that $U_3(\lambda) \in intK$ for all $\lambda \in [\lambda_0, \lambda_0 + \varepsilon]$. Recall that if $U_{\lambda}(t, V) \in intK$ for all $t \in (t_1, t_2)$ then $U_{\lambda}(\cdot, V)$ is simultaneously a solution of the equation

(1.1)
$$\dot{U}(t) - A_{\lambda}U(t) - G(\lambda, U(t)) = 0$$

on this interval. Hence, it follows from (μ) that there is $\rho_0 > 0$ such that any solution of (I) with $\lambda \in [\lambda_0, \lambda_0 + \varepsilon]$ and an initial condition $V \in K$, $|V| < \rho_0$ circulates around $U_3(\lambda)$ as long as it lies in *intK* and it intersects ∂K after some time. For the linearized equation $\dot{U}(t) - A_{\lambda}U(t) = 0$, this follows from the explicit form of solutions expressed by $\mu_j(\lambda), U_j(\lambda)$, the behaviour of solutions of (1.1) is similar on a small neigbourhood of the origin under the assumption (G).

Remark 1.2. It is easy to see that if (λ_0) is fulfilled then the assumption (λ_+) is equivalent to

$$|U_{0,\lambda}(t_{0,\lambda}(V_{\lambda}),V_{\lambda})| > 1.$$

Remark 1.3. It will follow from Consequence 3.2 below that for the investigation of stability, it is sufficient to consider only periodic solutions starting at $rV_{\lambda}, r \in (0, \rho_0)$ because any periodic solution with a sufficiently small initial condition must intersect such a point. Further, it will follow from Consequence 3.2 that any periodic solution $U_{\lambda}(\cdot, rV_{\lambda})$ with $r \in (0, \rho_0), \lambda \in (\lambda_0, \lambda_0 + \varepsilon]$ must satisfy

$$U_{\lambda}(t_{\lambda}^{k}(rV_{\lambda}), rV_{\lambda}) = rV_{\lambda}$$

with some $k \in \mathbb{N}$. Particularly, $t_{\lambda}(V_{\lambda})$ is finite if $U_{\lambda}(\cdot, rV_{\lambda})$ is periodic.

Theorem 1.1. Let the assumptions $(\mu), (K), (G), (L), (V), (\lambda_0), (\lambda_+), (A)$ be fulfilled. Then there exist $\rho_0 > 0, \varepsilon_0 > 0$ with the following property:

If for some $\lambda \in (\lambda_0, \lambda_0 + \varepsilon_0)$ there exists precisely one $r_\lambda \in (0, \rho_0)$ such that $U_\lambda(\cdot, r_\lambda V_\lambda)$ is periodic then this solution is asymptotically stable. Further,

4

) if
$$V \in K$$
, $U_{\lambda}(t, V) = sV_{\lambda}$ with some $t \ge 0, s \in (0, \rho_0)$ then

$$\lim_{t\to+\infty} \operatorname{dist}(U_{\lambda}(t,V),\mathbf{A}_{\lambda})=0,$$

where $\mathbf{A}_{\lambda} = \{W; W = U_{\lambda}(t, r_{\lambda}V_{\lambda}), t \geq 0\}.$

Notation 1.2. Let $\rho_0 > 0$ be given. Introduce the following numbers (depending on ρ_0) and the set of all ω -limit points of all solutions $U_{\lambda}(\cdot, rV_{\lambda}), r \in [\rho_{\lambda}, \overline{\rho}_{\lambda}]$:

$$\begin{split} & \underline{\rho}_{\lambda} = \inf\{r \in (0, \rho_0); U_{\lambda}(\cdot, rV_{\lambda}) \text{ is periodic } \}, \\ & \overline{\rho}_{\lambda} = \sup\{r \in (0, \rho_0); U_{\lambda}(\cdot, rV_{\lambda}) \text{ is periodic } \}, \\ & \mathbf{A}_{\lambda} = \{W; W = \lim_{n \to \infty} U_{\lambda}(t_n, rV_{\lambda}) \text{ for some } t_n \to +\infty, r \in [\underline{\rho}_{\lambda}, \overline{\rho}_{\lambda}] \}. \end{split}$$

We shall say that A_{λ} is attracting if there is a neighbourhood \mathbb{U} of A_{λ} such that $\lim_{t \to +\infty} \operatorname{dist}(U_{\lambda}(t, V), A_{\lambda}) = 0$ for all $V \in \mathbb{U}$.

(Of course, under the assumptions of Theorem 1.1, the set A_{λ} coincides with that introduced above.)

Remark 1.4. If $U_{\lambda}(t_{\lambda}(rV_{\lambda}), rV_{\lambda}) = rV_{\lambda}$ for any periodic solution $U_{\lambda}(\cdot, rV_{\lambda})$ with $r \in (0, \rho_0)$ (i.e. if any periodic solution $U_{\lambda}(\cdot, rV_{\lambda})$ with $r \in (0, \rho_0)$ has the period $t_{\lambda}(rV_{\lambda})$) then A_{λ} consists of all periodic trajectories $U_{\lambda}(\cdot, rV_{\lambda})$, $r \in (0, \rho_0)$. (In this case $U_{\lambda}(\cdot, \rho_{\lambda}V_{\lambda})$, $U_{\lambda}(\cdot, \overline{\rho_{\lambda}}V_{\lambda})$ are periodic.) For the proof of this assertion, similar ideas as those leading to the proof of Theorem 1.2 below can be used. Unfortunately, it is not clear how to show when this situation really occurs.

Theorem 1.2. Let the assumptions $(\mu), (K), (G), (L), (V), (\lambda_0), (\lambda_+), (A)$ be fulfilled. Then there exist $\rho_0 > 0, \varepsilon_0 > 0$ with the following property:

If for some $\lambda \in (\lambda_0, \lambda_0 + \varepsilon_0)$ there is at least one periodic solution $U_{\lambda}(\cdot, rV_{\lambda})$ with $r \in (0, \rho_0)$ then $0 < \underline{\rho}_{\lambda} \leq \overline{\rho}_{\lambda} < \rho_0$ and the set \mathbf{A}_{λ} is attracting. Further, (1.4)

if $V \in K$, $U_{\lambda}(t, V) = sV_{\lambda}$ with some $t \ge 0, s \in (0, \rho_0)$ then $\lim_{t \to +\infty} \operatorname{dist}(U_{\lambda}(t, V), \mathbb{A}_{\lambda}) = 0$.

Remark 1.5. The statements of Theorems 1.1, 1.2 remain valid if we replace $[\lambda_0, \lambda_0 + \varepsilon]$ and $(\lambda_0, \lambda_0 + \varepsilon_0)$ by $[\lambda_0 - \varepsilon, \lambda_0]$ and $(\lambda_0 - \varepsilon_0, \lambda_0)$ in all assumptions as well as in the assertions.

Remark 1.6. Denote by $T_K(U)$ the contingent cone to K at a point $U \in K$, i.e.

$$T_K(U) = \overline{\bigcup_{h>0} \bigcup_{V \in K} h(V-U)}.$$

For any $U \in K$, $W \in \mathbb{R}^3$, denote by $P_U W$ the projection of W onto $T_K(U)$, i.e. the unique element from $T_K(U)$ satisfying

$$|P_UW - W| = \min_{Z \in T_K(U)} |Z - W|.$$

It is known (see [1]) that an absolutely continuous function $U:[0,T) \to K$ is a solution of (I) if and only if

$$U(t) = P_{U(t)}(A_{\lambda}U(t) + G(\lambda, U(t)) \text{ for a.a. } t \in [0, T).$$

Further, any solution of (I) is right differentiable and its right derivative is right continuous in [0, T) (see [7]). Particularly, the last equation holds for all $t \in [0, T)$ if $\dot{U}(t)$ is understood as the right derivative.

2. Relation to the existence result

Suppose that

(

U)
$$U_i(\lambda) = U_i$$
 are independent of λ

and recall Theorem 1 from [2], where (U) is supposed and therefore also $g = g_{\lambda}$ is independent of λ . Let V_0 be such that

$$V_0 \in \partial K, |V_0| = 1, g(V_0) = \max_{0 \neq V \in \partial K} g(V).$$

Theorem 2.1. (See [2], Theorem 1.) Let (U) be fulfilled. Suppose that $\lambda_1 < \lambda_2$ are such that

(2.1)
$$t_{0,\lambda}(V_0) < +\infty \text{ for } \lambda_1 \leq \lambda \leq \lambda_2,$$

(2.2)
$$\alpha(\lambda) > \mu_3(\lambda), \beta(\lambda) > 0 \text{ for } \lambda_1 \le \lambda \le \lambda_2,$$

(2.3)
$$|U_{0,\lambda}(t_{0,\lambda}(V_0), V_0)| < |V_0|(=1) \text{ for } \lambda = \lambda_1,$$

$$|U_{0,\lambda}(t_{0,\lambda}(V_0),V_0)| > |V_0| \text{ for } \lambda = \lambda_2.$$

Then for any sufficiently small r > 0 there exists $\lambda \in (\lambda_1, \lambda_2)$ such that $U_{\lambda}(\cdot, rV_0)$ is a periodic solution of (I). There is at least one bifurcation point $\lambda_I \in (\lambda_1, \lambda_2)$ in which periodic solutions of (I) bifurcate from the branch of trivial solutions.

Remark 2.1. The assertion of Theorem 2.1 remains valid if we replace the assumption (U) by (V). In this case, it is possible to repeat all considerations from the proof of Theorem 1 in [2]. Of course, it is necessary to replace the fixed v from (8) in [2] by V_{λ} and to reformulate all Lemmas and Remarks used. But all proofs remain without any essential change.

If the assumptions of Theorem 1.1 or 1.2 are fulfilled and

 $|U_{0,\lambda}(t_{0,\lambda}(V_0),V_0)| < |V_0|$ for $\lambda \in (\lambda_0 - \varepsilon, \lambda_0)$

then it follows from Theorem 2.1 and Remark 2.1 that periodic solutions of (I) bifurcate from the branch of trivial solutions at λ_0 . Theorems 1.1 and 1.2 ensure that if these bifurcating solutions lie on the right of λ_0 then they are asymptotically stable or the corresponding set A_{λ} is attracting. Notice that in [2], there are given sufficient conditions under which the assumptions of Theorem 2.1 are fulfilled and there is also an example for which the theory can be applied.

3. PROOF OF THEOREM 1.2.

In the following Lemmas, we shall always suppose that $(\mu), (K), (G), (L), (V), (\lambda_0), (\lambda_+), (A)$ are fulfilled. We set $T = 2T_0$ (with the exception of Lemma 3.1), where T_0 is from (λ_0) .

Lemma 3.1. For any T > 0 there exists $\rho_0 > 0$ such that the solution $U_{\lambda}(\cdot, V)$ exists on [0, T+1) for any $\lambda \in [\lambda_0, \lambda_0 + \varepsilon], V \in K, |V| \le \rho_0$ and that the following conditions are fulfilled for any $\lambda_n \in [\lambda_0, \lambda_0 + \varepsilon], V_n \in K, |V_n| < \rho_0, \lambda_n \to \lambda, V_n \to V$:

(3.1)
$$U_{\lambda_n}(\cdot, V_n) \to U_{\lambda}(\cdot, V) \text{ in } C([0,T]),$$

(3.2) if
$$U_{\lambda}(t,V) \notin S_{\lambda}$$
 for $t \in [0,T]$ then $\varphi_{\lambda_n}(\cdot,V_n) \to \varphi_{\lambda}(\cdot,V)$ in $C([0,T])$,

(3.3) if $V \notin S_{\lambda}, t_{\lambda}(V) < T, \dot{\varphi}_{\lambda}(t_{\lambda}(V), V) > 0$ then $t_{\lambda_{n}}(V_{n}) \to t_{\lambda}(V)$.

Further, let $\lambda_n \in [\lambda_0, \lambda_0 + \varepsilon], V_n \in K, \lambda_n \to \lambda, 0 \neq |V_n| \to 0, \frac{V_n}{|V_n|} \to W$, let T > 0 be arbitrary. Then

(3.4)

$$\frac{U_{\lambda}(\cdot, V_n)}{|V_n|} \to U_{0,\lambda}(\cdot, W) \text{ in } C([0,T]),$$

if
$$W \notin S_{\lambda}$$
 then $\varphi_{\lambda_n}(\cdot, V_n) \to \varphi_{0,\lambda}(\cdot, W)$ in $C([0,T])$,

(3.6)

 $\text{if } W \notin S_{\lambda}, t_{0,\lambda}(W) < +\infty \text{ and } \dot{\varphi}_{0,\lambda}(t_{0,\lambda}(W), W) > 0 \text{ then } t_{\lambda_n}(V_n) \to t_{0,\lambda}(W).$

Proof. For the case of U_j independent of λ see [5], Lemma 2.1, Theorems 2.1, 2.2 and Consequence 2.2, for the general case see [3]. (See also Remark 2.1.)

Lemma 3.2. Let $\lambda \in \mathbb{R}, V \in K \setminus S$. Then

(3.7) $U_{0,\lambda}(t,V) \notin S$ for all $t \ge 0$,

(3.8) if $\dot{\varphi}_{0,\lambda}(t_0,V) \leq 0$ for some $t_0 \geq 0$ then $\dot{\varphi}_{0,\lambda}(t,V) \leq 0$ for all $t \geq t_0$.

Proof. See [2], Lemma 2. Note that the independence of the eigenvectors of λ considered in [2] plays no role here because we consider a fixed λ . (See also Remark 2.1.)

Lemma 3.3. There exists $\rho_0 > 0$ such that

if $\lambda \in [\lambda_0, \lambda_0 + \varepsilon], V \in K \setminus S_{\lambda}, |V| < \rho_0, g(V) \leq g(V_{\lambda})$ then $g(U_{\lambda}(t, V)) \leq g(V_{\lambda})$ for all $t \in [0, T]$,

if $\lambda \in [\lambda_0, \lambda_0 + \varepsilon], V \in K \setminus S_{\lambda}, g(V) \leq g(V_{\lambda})$ then $g(U_{0,\lambda}(t, V)) \leq g(V_{\lambda})$ for all $t \geq 0$. Particularly, if $r \in (0, \rho_0), \lambda \in [\lambda_0, \lambda_0 + \varepsilon], t_{\lambda}(rV_{\lambda}) < +\infty$ then $U_{\lambda}(t_{\lambda}(rV_{\lambda}), rV_{\lambda}) = sV_{\lambda}$ with some s > 0. If $t_{0,\lambda}(V_{\lambda}) < +\infty$ then $U_{0,\lambda}(t_{0,\lambda}(V_{\lambda}), V_{\lambda}) = sV_{\lambda}$ with some s > 0.

Proof. See [2], Lemma 3 and Remark 2.1.

Consequence 3.1. There exists $\rho_0 > 0$ such that

(3	.9)	$\dot{\varphi}_{0,\lambda}(t_0)$	$_{\lambda}(V_{\lambda}), V_{\lambda}$) > 0	for all $\lambda \in$	$[\lambda_0, \lambda_0 + \varepsilon],$
<u>۱</u>	1	10,000	n = n = n			

(3.10) $\dot{\varphi}_{\lambda}(0, rV_{\lambda}) > 0$ for all $\lambda \in [\lambda_0, \lambda_0 + \varepsilon], r \in (0, \rho_0],$

 $(3.11) t_{\lambda}(rV_{\lambda}) < T, \ \dot{\varphi}_{\lambda}(t_{\lambda}(rV_{\lambda}), rV_{\lambda}) > 0 \quad \text{for all } \lambda \in [\lambda_0, \lambda_0 + \varepsilon], \ r \in (0, \rho_0].$

Proof. (Cf. also parts II, III, V of the proof of Theorem 1 in [2].) It follows from the assumtion (λ_0) and (3.8) from Lemma 3.2 that

 $\dot{\varphi}_{0,\lambda}(0,V_{\lambda}) > 0 \quad \text{for all } \lambda \in [\lambda_0,\lambda_0+\varepsilon].$

Further, it follows from Lemma 3.3 that

 $U_{0,\lambda}ig(t_{0,\lambda}(V_{\lambda}),V_{\lambda}ig)=k(\lambda)V_{\lambda} \quad ext{for all } \lambda\in [\lambda_0,\lambda_0+arepsilon]$

with some $k(\lambda) > 0$. Hence,

$$\dot{arphi}_{0,\lambda}ig(t_{0,\lambda}(V_{\lambda}),V_{\lambda}ig)=\dot{arphi}_{0,\lambda}ig(0,k(\lambda)V_{\lambda}ig)=\dot{arphi}_{0,\lambda}(0,V_{\lambda}ig)>0\quad ext{for all }\lambda\in[\lambda_{0},\lambda_{0}+arepsilon],$$

i.e. (3.9) holds.

Suppose that (3.10) in not true, i.e. there exists $\lambda_n \in [\lambda_0, \lambda_0 + \varepsilon], r_n > 0$ such that $\lambda_n \to \lambda$, $r_n \to 0$,

$$\dot{\phi}_{\lambda_n}(0, r_n V_{\lambda_n}) \leq 0.$$

Remark 1.6 together with (G) and the fact that the cones $T_K(V_\lambda)$, $T_K(rV_\lambda)$ coincide, imply

$$\begin{split} \frac{1}{r_n} \dot{U}_{\lambda_{r_n}}(0, r_n V_{\lambda_n}) &= \frac{1}{r_n} P_{r_n V_{\lambda_n}} \left(A_{\lambda_n} r_n V_{\lambda_n} + G(\lambda_n, r_n V_{\lambda_n}) \right) = \\ &= P_{V_{\lambda_n}} \left(A_{\lambda_n} V_{\lambda_n} + \frac{1}{r_n} G(\lambda_n, r_n V_{\lambda_n}) \to P_{V_\lambda} A_\lambda V_\lambda = \dot{U}_{\lambda,0}(0, V_\lambda). \end{split}$$

8

If follows also $\dot{\varphi}_{\lambda_n}(0, r_n V_{\lambda_n}) \to \dot{\varphi}_{\lambda,0}(0, V_{\lambda})$ and we obtain $\dot{\varphi}_{0,\lambda}(0, V_{\lambda}) \leq 0$ which contradicts (3.9) and (3.10) is proved.

Suppose that (3.11) is not true. Then there exist $\lambda_n \in [\lambda_0, \lambda_0 + \varepsilon], r_n \searrow 0$ such that at least one of the inequalities in (3.11) is not fulfilled for $r = r_n$. But it follows from (λ_0) , (3.10) and (3.6) in Lemma 3.1 that $t_{\lambda_n}(r_n V_{\lambda_n}) < T$ for r_n small enough and therefore

$$\dot{\varphi}_{\lambda_n}(t_{\lambda_n}(r_n V_{\lambda_n}), r_n V_{\lambda_n}) \leq 0.$$

We have $U_{\lambda}(t,0) = 0$ for all $t \ge 0$ and Lemma 3.1 implies $U_{\lambda_n}(t_{\lambda_n}(r_nV_{\lambda_n}), r_nV_{\lambda_n}) \to 0$. We can write $U_{\lambda_n}(t_{\lambda_n}(r_nV_{\lambda_n}), r_nV_{\lambda_n}) = k(\lambda_n, r_n)V_{\lambda_n}$ by Lemma 3.3 again and it follows $k(\lambda_n, r_n) \to 0$. Hence, we obtain

$$0 \geq \dot{\varphi}_{\lambda_n}(t_{\lambda_n}(r_n V_{\lambda_n}), r_n V_{\lambda_n}) = \dot{\varphi}_{\lambda_n}(0, k(\lambda_n, r_n) V_{\lambda_n})$$

which contradicts (3.10).

Remark 3.1. Let $r_1, r_2 \in (0, \rho_0)$,

 $(3.12) \qquad |U_{\lambda}(t_{\lambda}(r_{1}V_{\lambda}), r_{1}V_{\lambda})| \geq r_{1},$

 $(3.13) |U_{\lambda}(t_{\lambda}(r_2V_2), r_2V_{\lambda})| \le r_2$

for some $\lambda \in [\lambda_0, \lambda_0 + \varepsilon_0]$. Then there exists r lying in the closed interval I bounded by r_1, r_2 and such that $U_{\lambda}(t_{\lambda}(rV_{\lambda}), rV_{\lambda}) = rV_{\lambda}$, i.e. $U_{\lambda}(\cdot, rV_{\lambda})$ is periodic. Indeed, the function $h(r) = |U_{\lambda}(t_{\lambda}(rV_{\lambda}), rV_{\lambda})|$ is continuous on I by Lemma 3.1, Consequence 3.1 and $h(r_1) \ge r_1, h(r_2) \le r_2$. It follows that h(r) = r for some $r \in I$.

Remark 3.2. For any $\lambda \in (\lambda_0, \lambda_0 + \varepsilon]$ there exists ρ_{λ}^0 such that

$$|U_{\lambda}(t_{\lambda}(rV_{\lambda}), rV_{\lambda})| > r ext{ for all } r \in (0,
ho_{\lambda}^{0}).$$

Indeed, otherwise $r_n \searrow 0$ would exist such that $r_n^{-1}|U_{\lambda}(t_{\lambda}(r_nV_{\lambda}), r_nV_{\lambda})| \leq 1$ and the limiting process by using (3.4), (3.6) from Lemma 3.1 (and Consequence 3.1) would give $|U_{0,\lambda}(t_{0,\lambda}(V_{\lambda}), V_{\lambda})| \leq 1$ which contradicts the assumption (λ_+) (see Remark 1.2).

Lemma 3.4. There is $\rho_0 > 0$ such that

$$(3.14) |U_{\lambda_0}(t_{\lambda_0}(rV_{\lambda_0}), rV_{\lambda_0})| < r \text{ for all } r \in (0, \rho_0].$$

Further, if $\rho_1 \in (0, \rho_0)$ then there exists $\varepsilon_0 > 0$ such that

$$(3.15) |U_{\lambda}(t_{\lambda}(rV_{\lambda}), rV_{\lambda})| < r \text{ for all } \lambda \in [\lambda_0, \lambda_0 + \varepsilon_0], \ r \in (\rho_1, \rho_0).$$

Proof. Let R be from the assumption (A). It follows from Lemma 3.1 and Consequence 3.1 (by using the fact that $U_{\lambda_0}(\cdot, 0) = 0$) that there exists ρ_0 such that

$$|U_{\lambda_0}(t_{\lambda_0}(rV_{\lambda_0}), rV_{\lambda_0})| < R ext{ for all } r \in (0,
ho_0].$$

Suppose that there is $r_1 \in (0, \rho_0]$ satisfying (3.12) with $\lambda = \lambda_0$. Simultaneously, it follows from (A) that (3.13) holds for $\lambda = \lambda_0$ with some $r_2 > 0$ small enough. Remark 3.1 ensures the existence of $r \in (r_2, r_1) \subset (0, \rho_0)$ such that $U_{\lambda_0}(\cdot, rV_{\lambda_0})$ is periodic which contradicts (A). Hence, (3.14) is proved. If (3.15) were not true then λ_n, r_n would exist such that

$$\lambda_n \searrow \lambda_0, \ r_n \to r \in [\rho_1, \rho_0], \ |U_{\lambda_n}(t_{\lambda_n}(r_n V_{\lambda_n}), r_n V_{\lambda_n})| \ge r_n.$$

The limiting process by using (3.1),(3.3) (Lemma 3.1) and (3.11) (Consequence 3.1) would give

$$|U_{\lambda_0}(t_{\lambda_0}(rV_{\lambda_0}), rV_{\lambda_0})| \geq r$$

which is impossible by (3.14).

Notation 3.1.

$$\underline{r}_{\lambda} = \sup\{r_{\lambda} \in (0, \rho_{0}); |U_{\lambda}(t_{\lambda}(rV_{\lambda}), rV_{\lambda})| > r \text{ for all } r \in (0, r_{\lambda})\},\\ \overline{r}_{\lambda} = \inf\{r_{\lambda} \in (0, \rho_{0}); |U_{\lambda}(t_{\lambda}(rV_{\lambda}), rV_{\lambda})| < r \text{ for all } r \in (r_{\lambda}, \rho_{0})\}.$$

Remark 3.3. We have $\underline{r}_{\lambda} > 0$ for all $\lambda \in [\lambda_0, \lambda_0 + \varepsilon]$ by Remark 3.2. Further, if $\rho_1 \in (0, \rho_0)$ and ε_0 is the corresponding number from Lemma 3.4 then $\overline{r}_{\lambda} < \rho_1 < \rho_0$ by Lemma 3.4 for $\lambda \in [\lambda_0, \lambda_0 + \varepsilon_0]$. It follows from Lemma 3.1 and Consequence 3.1 that $U_{\lambda}(t_{\lambda}(\overline{r}_{\lambda}V_{\lambda}), \overline{r}_{\lambda}V_{\lambda}) = \overline{r}_{\lambda}V_{\lambda}$, $U_{\lambda}(t_{\lambda}(\underline{r}_{\lambda}V_{\lambda}), \underline{r}_{\lambda}, V_{\lambda}) = \underline{r}_{\lambda}V_{\lambda}$ and therefore $\underline{\rho}_{\lambda} \leq \underline{r}_{\lambda} \leq \overline{r}_{\lambda} \leq \overline{\rho}_{\lambda}$. Of course, if there is only one periodic solution $U_{\lambda}(\cdot, rV_{\lambda})$ with $r \in (0, \rho_0)$ for some $\lambda \in [\lambda_0, \lambda_0 + \varepsilon_0]$ as in the assumptions of Theorem 1.1 then $\underline{\rho}_{\lambda} = \underline{r}_{\lambda} = \overline{r}_{\lambda} = \overline{\rho}_{\lambda}$.

Remark 3.4. Setting successively V = 2U(t), V = 0, we obtain that any solution of (I) satisfies $(\dot{U}(t) - A_{\lambda}U(t) - G(\lambda, U(t)), U(t)) = 0$.

Remark 3.5. Let ρ_0 be from Lemma 3.1. If $V \in K$, $|V| \neq 0$, $\lambda \in [\lambda_0, \lambda_0 + \varepsilon]$ then $|U_{\lambda}(t, V)| \neq 0$ for all $t \in [0, T]$. Indeed, if we set $U(t) = U_{\lambda}(t, V)$ then Remark 3.4 implies $\frac{d}{dt}(|U(t)|^2) = 2(\dot{U}(t), U(t)) = 2(A_{\lambda}U(t) + G(\lambda, U(t)), U(t)) \geq -C|U(t)|^2$ for all $t \in [0, T]$, where C depends on $\max_{t \in [0,T]} |U(t)|$ (see the assumption (L)). It follows $|U(t)|^2 \geq e^{-Ct}|V|^2$ for all $t \in [0, T]$.

Lemma 3.5. Let ρ_0 be such that the assertions of the previous Lemmas hold. Then there exists $\rho_1 > 0$ such that

$$|U_{\lambda}(t'_{\lambda}(V), V)| < \rho_0 \text{ for all } \lambda \in [\lambda_0, \lambda_0 + \varepsilon], V \in K, |V| < \rho_1$$

where we denote $t'_{\lambda}(V) = \min\{t; t > 0, U_{\lambda}(t, V) = rV_{\lambda} \text{ with some } r > 0\}.$

Proof. First, recall that $t'_{\lambda}(V)$ is well-defined by Remark 1.1 and Lemma 3.3. Set

$$\tau = \min_{\lambda \in [\lambda_0, \lambda_0 + \epsilon]} \{ [g_\lambda(V_\lambda)]^{-2} + 1 \}^{-\frac{1}{2}}$$

It follows from Lemma 3.1 that there is $\rho_2 > 0$ such that

Further, there is $\rho_1 > 0$ such that if $V \in K$, $|V| < \rho_1$ then $x_{\lambda}^3(V) < \rho_2$ and it follows from (μ) (see also Remark 1.1) that

$$x_{\lambda}^{3}(t,V) < \rho_{2} \text{ for all } t \in [0,t_{0}] \text{ with } t_{0} = \min\{t; U_{\lambda}(t,V) \in \partial K\}.$$

Hence, (3.16) implies

(3.17)
$$x_{\lambda}^{3}(t,V) < \tau \rho_{0} \text{ for all } t \in [0, t_{0} + T].$$

It follows from Consequence 3.1 and Lemma 3.3 that $t'_{\lambda}(V) \in [t_0, t_0 + T]$ and therefore (3.17) together with the definition of $t'_{\lambda}(V)$ and τ imply

$$|U_{\lambda}(t'_{\lambda}(V),V)| = [1 + (g_{\lambda}(V_{\lambda}))^{-2}]^{\frac{1}{2}} |x_{\lambda}^{3}(t'_{\lambda}(V),V)| < \rho_{0}.$$

Consequence 3.2. Let $\rho_1 > 0$ be from Lemma 3.5 and let ε_0 be the corresponding number from Lemma 3.4 such that (3.15) holds. Then it follows from Consequence 3.1, (3.15) from Lemma 3.4 and Lemma 3.5 that $U_{\lambda}(t_{\lambda}^k(rV_{\lambda}), rV_{\lambda})$ is defined and $|U_{\lambda}(t_{\lambda}^k(rV_{\lambda}), rV_{\lambda})| \in (0, \rho_0)$ for all $r \in (0, \rho_0), k \in \mathbb{N}, \lambda \in [\lambda_0, \lambda_0 + \varepsilon_0]$. Further, $U_{\lambda}(\cdot, rV_{\lambda})$ with some $\lambda \in [\lambda_0, \lambda_0 + \varepsilon_0], r \in (0, \rho_0)$ is periodic if and only if $U_{\lambda}(t_{\lambda}^k(rV_{\lambda}), rV_{\lambda}) = rV_{\lambda}$ for some $k \in \mathbb{N}$. If $U_{\lambda}(\cdot, V)$ is periodic and |V| is small enough then there is $t_0 > 0, k \in \mathbb{N}$ such that $U_{\lambda}(t_0, V) = rV_{\lambda}, U_{\lambda}(t_{\lambda}^k(rV_{\lambda}), rV_{\lambda}) =$

Lemma 3.6. Let ρ_0 be such that the assertions of the previous Lemmas hold. Then

(3.18)
$$\lim_{\lambda \to \lambda_{0+}} \overline{\rho}_{\lambda} = 0.$$

 $U_{\lambda}(t_0, V) = rV_{\lambda}$ for some $t_0 \ge 0, r \in (0, \rho_0)$ and the assertion follows.

Proof. First, let us show that

$$\lim_{\lambda\to\lambda_{0^+}}\bar{r}_{\lambda}=0.$$

 rV_{λ} . Indeed, $U_{\lambda}(t_1, V) \in \partial K$ for some $t_1 > 0$ according Remark 1.1, Lemma 3.3 ensures that

Indeed, otherwise λ_n would exist such that

$$\lambda_n \searrow \lambda_0, \bar{r}_{\lambda_n} \to r \in (0, \rho_0], \ U_{\lambda_n}(t_{\lambda_n}(\bar{r}_{\lambda_n}V_{\lambda_n}), \bar{r}_{\lambda_n}V_{\lambda_n}) = \bar{r}_{\lambda_n}V_{\lambda_n}$$

(see Remark 3.3). The limiting process (by using Consequence 3.1 and (3.1), (3.3) from Lemma 3.1) would give $U_{\lambda_0}(t_{\lambda_0}(rV_{\lambda_0}), rV_{\lambda_0}) = rV_{\lambda_0}$ which constradicts Lemma 3.4. Further, suppose that there are λ_n such that $\lambda_n \searrow \lambda_0, \overline{\rho}_{\lambda_n} \to \overline{\rho} \in (0, \rho_0]$. It follows from the definition of $\overline{\rho}_{\lambda}$ and Consequence 3.2 that there are also $r_n \leq \overline{\rho}_{\lambda_n}, r_n \to \overline{\rho}, k_n \in \mathbb{N}$ such that $U_{\lambda_n}(t_{\lambda_n}^{k_n}, (r_nV_{\lambda_n}), r_nV_{\lambda_n}) = r_nV_{\lambda_n}$. We have

$$|U_{\lambda_n}(t_{\lambda_n}(rV_{\lambda_n}), rV_{\lambda_n})| < r \text{ for all } r \in (\bar{r}_{\lambda_n}, \rho_0)$$

and it follows that r_n could be chosen simultaneously such that there exist $s_n < \bar{r}_{\lambda_n}$ satisfying

$$U_{\lambda_n}(t_{\lambda_n}^{k_n-1}(r_nV_{\lambda_n}),r_nV_{\lambda_n})=s_nV_{\lambda_n},\ U_{\lambda_n}(t_{\lambda_n}(s_nV_{\lambda_n}),s_nV_{\lambda_n})=r_nV_{\lambda_n}.$$

But $s_n \to 0$ and therefore the left hand side in the last equation converges to zero by Consequence 3.1 and Lemma 3.1 while the right hand side tends to $\overline{\rho}V_{\lambda} \neq 0$ which is the contradiction.

Lemma 3.7. Let ρ_0 be such that the assertions of the previous Lemmas hold. Then there exists $\varepsilon_0 > 0$ with the following property. If $\lambda \in (\lambda_0, \lambda_0 + \varepsilon_0]$ and there is $r \in (0, \rho_0)$ such that $U_{\lambda}(\cdot, rV_{\lambda})$ is periodic then

$$(3.19) 0 < \rho_{\lambda} \le \overline{\rho}_{\lambda} < \rho_{0},$$

$$(3.20) |U_{\lambda}(t_{\lambda}(rV_{\lambda}), rV_{\lambda})| > r \text{ for all } r \in (0, \rho_{\lambda}),$$

$$(3.21) |U_{\lambda}(t_{\lambda}(rV_{\lambda}), rV_{\lambda})| < r \text{ for all } r \in (\overline{\rho}_{\lambda}, \rho_0).$$

Proof. Let $\rho_1 \in (0, \rho_0)$ be from Lemma 3.5, let $\varepsilon_0 > 0$ be such that (3.15) in Lemma 3.4 holds. Suppose that $\underline{\rho}_{\lambda} = 0$ for some $\lambda \in (\lambda_0, \lambda_0 + \varepsilon_0]$. According Consequence 3.2, there exist $r_n > 0, k_n \in \mathbb{N}$, such that $r_n \searrow 0, U_{\lambda}(t_{\lambda}^{k_n}(r_nV_{\lambda}), r_nV_{\lambda}) = r_nV_{\lambda}$. It follows from the definition

10

and positiveness of \underline{r}_{λ} (see Remark 3.2) that r_n could be chosen simultaneously such that there are s_n satisfying

$$s_n > \underline{r}_{\lambda}, \ U_{\lambda}(t_{\lambda}^{k_n-1}(r_nV_{\lambda}), r_nV_{\lambda}) = s_nV_{\lambda}, \ U_{\lambda}(t_{\lambda}(s_nV_{\lambda}), s_nV_{\lambda}) = r_nV_{\lambda}.$$

We have $s_n < \rho_0$ by Lemma 3.5 and (3.15). Therefore we can suppose $s_n \to s > 0$. Hence, the left hand side in the last equation should tend to $U_{\lambda}(t_{\lambda}(sV_{\lambda}), sV_{\lambda}) \neq 0$ by Consequence 3.1, Lemma 3.1 and Remark 3.5 while the right hand side tends to zero. This is the contradiction and $0 < \rho_{\lambda}$ is proved. The remaining inequalities in (3.19) follow from the definition of $\rho_{\lambda}, \overline{\rho}_{\lambda}$ and from Lemma 3.6 for ε_0 small enough. The inequalities (3.20), (3.21) follow directly from Remark 3.3 and Notation 3.1.

Lemma 3.8. There exists $\delta > 0$ such that $t_{\lambda}(rV_{\lambda}) \geq \delta$ for all $\lambda \in [\lambda_0, \lambda_0 + \varepsilon], r \in (0, \rho_0]$.

Proof. Suppose the contrary. Then there are $\lambda_n \in [\lambda_0, \lambda_0 + \varepsilon]$, $r_n \in (0, \rho_0]$ such that $\lambda_n \to \lambda$, $r_n \to r$, $t_{\lambda_n}(r_n V_{\lambda_n}) \to 0$. Set $t_n = t_{\lambda_n}(r_n V_{\lambda_n})$, $U_n(t) = U_{\lambda_n}(t, r_n V_{\lambda_n})$. According Remark 3.4, we obtain

$$0 = (U_n(t_n) - r_n V_{\lambda_n}, Z) = \int_0^{t_n} (\dot{U}_n(t), Z) dt \ge \int_0^{t_n} (A_{\lambda_n} U_n(t) + G(\lambda_n, U_n(t)), Z) dt,$$

$$0 = |U_n(t_n)|^2 - r_n^2 = 2 \int_0^{t_n} (\dot{U}_n(t), U_n(t)) dt = 2 \int_0^{t_n} (A_{\lambda_n} U_n(t) + G(\lambda_n, U_n(t)), U_n(t)) dt.$$

First, let r > 0. Dividing the equations by t_n , we obtain by the limiting process (by using (3.1) from Lemma 3.1) that

$$0 \ge \left(A_{\lambda}rV_{\lambda} + G(\lambda, rV_{\lambda}), Z\right) \quad \text{for any } Z \in K, \ 0 = \left(A_{\lambda}rV_{\lambda} + G(\lambda, rV_{\lambda}), rV_{\lambda}\right) = 0.$$

It follows that $U_{\lambda}(t, rV_{\lambda}) = rV_{\lambda}$ is a stationary solution of (I) which is impossible by Consequence 3.1. If r = 0 then we can divide the above equations by $r_n t_n$ and use (3.4) from Lemma 3.1 to obtain

$$0 \ge (A_{\lambda}V_{\lambda}, Z)$$
 for any $Z \in K$, $0 = (A_{\lambda}V_{\lambda}, V_{\lambda}) = 0$.

That means V_{λ} is a stationary solution of (LI) which contradicts the assumption (λ_0) .

Lemma 3.9. Let ρ_0 be such that the assertions of the previous Lemmas hold. Then

$$\lim_{\lambda \to \lambda_0 +} \sup_{\substack{r \in [\underline{\rho}_{\lambda}, \overline{\rho}_{\lambda}] \\ t \ge 0}} |U_{\lambda}(t, rV_{\lambda})| = 0.$$

Proof. Suppose the contrary. According Lemma 3.6, there exist $\lambda_n \searrow \lambda_0, r_n \leq \overline{\rho}_{\lambda_n} \searrow 0, t_n > 0$ such that

 $(3.22) |U_{\lambda_n}(t_n, r_n V_{\lambda_n})| \ge \delta$

with some $\delta > 0$. It follows from Consequence 3.2 and Lemma 3.8 that there are k_n such that

$$t_n \in [t_{\lambda_n}^{k_n}(r_n V_{\lambda_n}), t_{\lambda_n}^{k_n+1}(r_n V_{\lambda_n})].$$

Setting $V_n = U_{\lambda_n}(t_{\lambda_n}^{k_n}(r_n V_{\lambda_n}), r_n V_{\lambda_n})$ we can write (3.22) as

$$|U_{\lambda_n}(t'_n, V_n)| \ge \delta, t'_n = t_n - t_{\lambda_n}^{k_n}(r_n V_{\lambda_n}) \in [0, T]$$

(see also Consequence 3.1). According Consequence 3.1 and Lemma 3.3, we can define s_n^j by

$$U_{\lambda_n}(t_{\lambda_n}(s_n^j V_{\lambda_n}), s_n^j V_{\lambda_n}) = s_n^{j+1} V_{\lambda_n}, s_n^0 = r_n.$$

We have $V_n = U_{\lambda_n}(t_{\lambda_n}(s_n^{k_n}V_{\lambda_n}), s_n^{k_n}V_{\lambda_n})$. Let us show that $s_n^{k_n} \to 0$ (for $n \to +\infty$). If follows from Lemma 3.1 and Consequence 3.1 that for any $\xi > 0$ there is $r_0 > 0$ such that $|U_{\lambda}(t_{\lambda}(rV_{\lambda}), rV_{\lambda})| < \xi$ for any $r \in (0, r_0)$, Lemma 3.6 ensures the existence of n_0 such that $\overline{\rho_{\lambda_n}} \in (0, r_0)$ for $n \ge n_0$. This together with (3.21) (Lemma 3.7) implies that $s_n^j < \xi$ for $n \ge n_0$, $j = 1, 2, \ldots$ But $\xi > 0$ was arbitrary and, particularly, $s_n^{k_n} \to 0$. Hence, it follows by using Consequence 3.1 and Lemma 3.1 that $|V_n| \to 0$ and therefore $U_{\lambda_n}(\cdot, V_n) \to 0$ in C([0, T]) by Lemma 3.1. This is the contradiction.

Proof of Theorem 1.2. Consider a fixed small ρ_0 such that all the assertions of Lemmas and Remarks given above hold. Let ρ_1 be from Lemma 3.5, ε_0 the corresponding number from Lemma 3.4 such that also the assertions of the other Lemmas and Remarks above hold. It follows from Lemma 3.9 and the definition of A_{λ} that ε_0 can be taken simultaneously such that

(3.23)
$$|V| < \frac{\rho_1}{2} \text{ for all } V \in \mathbf{A}_{\lambda}, \lambda \in (\lambda_0, \lambda_0 + \varepsilon_0].$$

Lemma 3.5 implies that

$$|U_{\lambda}(t_{\lambda}'(V), V)| < \rho_0 \text{ for all } V \in \mathbb{U}_{\frac{\rho_1}{2}}(\mathbb{A}_{\lambda}), \lambda \in (\lambda_0, \lambda_0 + \varepsilon_0],$$

where $\mathbb{U}_{\frac{\rho_1}{2}}(\mathbf{A}_{\lambda})$ is the $\frac{\rho_1}{2}$ -neighbourhood of \mathbf{A}_{λ} , i.e.

for any $V \in \mathbb{U}_{\frac{\rho_1}{2}}(\mathbb{A}_{\lambda}), \lambda \in (\lambda_0, \lambda_0 + \varepsilon_0]$ there is $s \in (0, \rho_0)$ such that $U_{\lambda}(t'_{\lambda}(V), V) = sV_{\lambda}$.

Hence, the attractivity of A_{λ} is a consequence of the assertion (1.4) of Theorem 1.2. Of course, if $U_{\lambda}(t_0, V) = rV_{\lambda}$ for some $t_0 \ge 0, r \in (0, \rho_0)$ then

 $\lim_{t\to+\infty} \operatorname{dist}(U_{\lambda}(t,V), \mathbf{A}_{\lambda}) = \lim_{t\to+\infty} \operatorname{dist}(U_{\lambda}(t, rV_{\lambda}), \mathbf{A}_{\lambda}).$ Hence, for the proof of (1.4) it is sufficient to show that

(3.24)
$$\lim_{t \to +\infty} \operatorname{dist}(U_{\lambda}(t, r_0 V_{\lambda}), \mathbf{A}_{\lambda}) = 0 \text{ for all } r_0 \in (0, \rho_0), \lambda \in (\lambda_0, \lambda_0 + \varepsilon_0].$$

If this is not true for some r_0 then we have $dist(U_{\lambda}(t_n, r_0V_{\lambda}, \mathbf{A}_{\lambda}) > \delta > 0$ with some $t_n \to +\infty$. In the case $r_0 \in [\underline{\rho}_{\lambda}, \overline{\rho}_{\lambda}], U_{\lambda}(t_n, r_0V_{\lambda})$ are bounded by Lemma 3.9 and therefore we can suppose $U_{\lambda}(t_n, r_0V_{\lambda}) \to W$ for some W. But then $W \in \mathbf{A}_{\lambda}$ by the definition and this is the contradiction.

Hence, it remains to prove (3.24) for $r_0 \in (0, \underline{\rho}_{\lambda}) \cup (\overline{\rho}_{\lambda}, \rho_0)$. Consider a fixed $r_0 \in (0, \underline{\rho}_{\lambda}) \cup (\overline{\rho}_{\lambda}, \rho_0)$ and define r_n by the equations

$$(3.25) U_{\lambda}(t_{\lambda}(r_{n-1}V_{\lambda}), r_{n-1}V_{\lambda}) = r_n V_{\lambda}, n = 1, 2, \dots$$

12

The sequence r_n is well defined by Consequence 3.2. We can suppose that ε_0 is such that $\overline{\rho}_{\lambda} < \rho_1$ for $\lambda \in [\lambda_0, \lambda_0 + \varepsilon_0]$ (see Lemma 3.6). Then we have $r_n \in (0, \rho_0)$ by (3.21) from Lemma 3.7 and Lemma 3.5. Suppose without loss of generality that also

(3.26)
$$r_n \in (0, \rho_{\lambda}) \cup (\overline{\rho}_{\lambda}, \rho_0) \text{ for } n = 0, 1, 2, \dots$$

We shall prove that

(3.27) if
$$r_{n_0} < \rho$$
, for some n_0 then $r_n > r_{n_0}$ for all $n > n_0$,

(3.28) if $r_{n_0} > \overline{\rho}_{\lambda}$ for some n_0 then $r_n < r_{n_0}$ for all $n > n_0$.

Suppose that (3.27) does not hold. Then it follows from (3.20) in Lemma 3.7 that we can find n_0, k such that

$$(3.29) r_{n_0} < \underline{\rho}_{\lambda}, r_{n_0+1} > \underline{r}_{\lambda}, r_{n_0+k} < r_{n_0}.$$

Set $\underline{r} = \inf\{r; |U_{\lambda}(t_{\lambda}(rV_{\lambda}), rV_{\lambda})| = \underline{r}_{\lambda}\}$. The continuous dependence on initial condition (see Lemma 3.1) together with (3.29) imply

$$(3.30) 0 < \underline{r} < r_{n_0}, U_{\lambda}(t_{\lambda}(\underline{r}V_{\lambda}), \underline{r}V_{\lambda}) = \underline{r_{\lambda}}V_{\lambda}.$$

Then (3.29), (3.30) together with the periodicity of $U_{\lambda}(\cdot, \underline{r}_{\lambda}V_{\lambda})$ (Remark 3.3) imply

$$|U_{\lambda}(t_{\lambda}^{k}(r_{n_{0}}V_{\lambda}), r_{n_{0}}V_{\lambda})| < r_{n_{0}}, |U_{\lambda}(t_{\lambda}^{k}(\underline{r}V_{\lambda}), \underline{r}V_{\lambda})| = \underline{r}_{\lambda} > \underline{r}.$$

The function $h(r) = |U_{\lambda}(t_{\lambda}^{k}(rV_{\lambda}), rV_{\lambda})|$ is defined and continuous on $[\underline{r}, r_{n_{0}}]$ with respect to Consequence 3.2 and Lemma 3.1. The same considerations as in Remark 3.1 imply the existence of $r \in [\underline{r}, r_{n_{0}}]$ such that $U_{\lambda}(r_{\lambda}^{k}(rV_{\lambda}), rV_{\lambda}) = rV_{\lambda}$. That means $U_{\lambda}(\cdot, rV_{\lambda})$ is periodic, $r < \underline{\rho}_{\lambda}$ and this is the contradiction with the definition of $\underline{\rho}_{\lambda}$. The implication (3.28) can be proved analogously (by changing the sign in all inequalities discussed and replacing $\underline{\rho}_{\lambda}$ and inf by $\overline{\rho}_{\lambda}$ and sup, respectively).

Denote by $\{s_n^1\}$ and $\{s_n^2\}$ the subsequence of $\{r_n\}$ of all $r_n \in (0, \underline{\rho}_{\lambda})$ and $r_n \in (\overline{\rho}_{\lambda}, \rho_0)$, respectively. It follows from (3.26) that $\{r_n\} = \{s_n^1\} \cup \{s_n^2\}$ and (3.27), (3.28) ensure that

(3.31) $\{s_n^1\}$ is increasing , $\{s_n^2\}$ is decreasing .

Hence,

(3.32) $s_n^1 \nearrow s_1$ and $s_n^2 \searrow s_2$ if $\{s_n^1\}$ is infinite and $\{s_n^2\}$ is infinite, respectively.

Suppose for a moment that

(3.33)
$$s_1 = \rho_{\lambda}$$
 if $\{s_n^1\}$ is infinite and $s_2 = \overline{\rho}_{\lambda}$ if $\{s_n^2\}$ is infinite, respectively.

First, suppose that $\{s_n^1\}$ is infinite, $s_1 = \rho_{\lambda}$ and $\{s_n^2\}$ is finite. Then

$$s_n^1 = r_{k+n}$$
 for $n \ge n_0$ (with some n_0, k)

and the limiting proces in (3.25) gives

$$U_{\lambda}(t_{\lambda}(\underline{\rho}_{\lambda}V_{\lambda},\underline{\rho}_{\lambda}V_{\lambda})=\underline{\rho}_{\lambda}V_{\lambda}.$$

It follows from Lemma 3.1 that $U_{\lambda}(\cdot, s_n^1 V_{\lambda}) \to U_{\lambda}(\cdot, \underline{\rho}_{\lambda} V_{\lambda})$ in C([0,T]) and therefore

$$\lim_{\lambda \to +\infty} |U_{\lambda}(t, r_0 V_{\lambda}) - U_{\lambda}(t, \underline{\rho}_{\lambda} V_{\lambda})| = 0.$$

Simultaneously $U_{\lambda}(t, \underline{\rho}_{\lambda}V_{\lambda}) \in \mathbf{A}_{\lambda}$ for all $t \geq 0$ because of $U_{\lambda}(\cdot, \underline{\rho}_{\lambda}V_{\lambda})$ is periodic. Hence, the equality in (3.24) holds. (Note that in this case $s_1 = \underline{\rho}_{\lambda} = \underline{r}_{\lambda}$.) Analogously we obtain

$$\lim_{t\to+\infty} |U_{\lambda}(t,r_0V_{\lambda}) - U_{\lambda}(t,\overline{\rho}_{\lambda}V_{\lambda})| = 0, \ U_{\lambda}(t,\overline{\rho}_{\lambda}V_{\lambda}) \in \mathbb{A}_{\lambda} \text{ for all } t \geq 0$$

if $\{s_n^1\}$ is finite, $\{s_n^2\}$ is infinite, $s_2 = \bar{\rho}_{\lambda}$. (In this case $s_2 = \bar{\rho}_{\lambda} = \bar{r}_{\lambda}$.) Further, suppose that both $\{s_n^1\}, \{s_n^2\}$ are infinite and (3.33) holds. Then there exist increasing sequences $\{k_n\}, \{\ell_n\}, \{m_n\}, \{p_n\}$ of indices such that

$$(3.34) U_{\lambda}(t_{\lambda}(s_{k_{n}}^{1}V_{\lambda}), s_{k_{n}}^{1}V_{\lambda}) = s_{\ell_{n}}^{2}V_{\lambda}, \ U_{\lambda}(t_{\lambda}(s_{m_{n}}^{2}V_{\lambda}), s_{m_{n}}^{2}V_{\lambda}) = s_{p_{n}}^{1}V_{\lambda} \text{ for all } n \geq n_{0}$$

and the limiting process by Lemma 3.1 gives

$$(3.35) U_{\lambda}(t_{\lambda}(\underline{\rho}_{\lambda}V_{\lambda}),\underline{\rho}_{\lambda}V_{\lambda}) = \overline{\rho}_{\lambda}V_{\lambda}, U_{\lambda}(t_{\lambda}(\overline{\rho}_{\lambda}V_{\lambda}),\overline{\rho}_{\lambda}V_{\lambda}) = \underline{\rho}_{\lambda}V_{\lambda},$$

that means

$$U_{\lambda}(t_{\lambda}^{2}(\underline{\rho}_{\lambda}V_{\lambda}),\underline{\rho}_{\lambda}V_{\lambda})=\underline{\rho}_{\lambda}V_{\lambda}.$$

Hence, $U_{\lambda}(\cdot, \underline{\rho}_{\lambda}V_{\lambda})$ is periodic with the period $t_{\lambda}^{2}(\underline{\rho}_{\lambda}V_{\lambda})$ and therefore

$$U_{\lambda}(t, \underline{\rho}_{\lambda} V_{\lambda}) \in \mathbb{A}_{\lambda}$$
 for all $t \geq 0$.

(In this case $s^1 = \underline{\rho}_{\lambda} = \underline{r}_{\lambda}$, $s_2 = \overline{r}_{\lambda} = \overline{\rho}_{\lambda}$). Now, the equality in (3.24) follows by the limiting process from (3.34), (3.35) similarly as in the former situations.

Hence, for the proof of (3.24) it remains to show that (3.33) holds. First, suppose that $\{s_n^1\}$ is infinite and $s_1 < \rho_{\lambda}$. We shall show that then

$$(3.36) |U_{\lambda}(t_{\lambda}(s_n^1 V_{\lambda}), s_n^1 V_{\lambda})| > \overline{\rho}_{\lambda} \text{ for all } n \ge n_0.$$

If (3.36) were not true then a subsequence $\{s_{k_n}^1\}$ would exist such that

$$U_{\lambda}(t_{\lambda}(s_{k_n}^1 V_{\lambda}), s_{k_n}^1 V_{\lambda}) = s_{k_n+1}^1 V_{\lambda}, \ n = 1, 2, \dots$$

The limiting process by using Lemma 3.1 and Consequence 3.1 would give $U_{\lambda}(t_{\lambda}(s_1V_{\lambda}), s_1V_{\lambda}) = s_1V_{\lambda}, s_1 < \underline{\rho}_{\lambda}$. This is impossible by the definition of $\underline{\rho}_{\lambda}$ and (3.36) is proved. Particularly, $\{s_n^2\}$ is infinite. It follows that there exist subsequences $s_{k_n}^2 \to s_2, s_{\ell_n}^2 \to s_2$ such that

$$U_{\lambda}(t_{\lambda}(s_{n}^{1}V_{\lambda}), s_{n}^{1}V_{\lambda}) = s_{k_{n}}^{2}V_{\lambda}, U_{\lambda}(t_{\lambda}(s_{\ell_{n}}^{2}V_{\lambda}), s_{\ell_{n}}^{2}V_{\lambda}) = s_{n}^{1}V_{\lambda} \text{ for all } n \geq n_{0}.$$

The limiting process gives

$$U_{\lambda}(t_{\lambda}(s_1V_{\lambda}), s_1V_{\lambda}) = s_2V_{\lambda}, \ U_{\lambda}(t_{\lambda}(s_2V_{\lambda}), s_2V_{\lambda}) = s_1V_{\lambda},$$

that means

$$U_{\lambda}(t_{\lambda}^2(s_1V_{\lambda}),s_1V_{\lambda})=s_1V_{\lambda},\ s_1\in(0,
ho_{\lambda}).$$

This contradicts the definition of $\underline{\rho_{\lambda}}$ and the first equality in (3.33) is proved. The second one can be proved analogously.

Remark 3.6. We obtained $\underline{\rho_{\lambda}} = \underline{r_{\lambda}}$, $\overline{r_{\lambda}} = \overline{\rho_{\lambda}}$ in all cases precisely discussed in the proof of Theorem 1.2. But this is not clear if for instance $|U_{\lambda}(t_{\lambda}(r_0V_{\lambda}), rV_{\lambda})| \in (\underline{\rho_{\lambda}}, \overline{\rho_{\lambda}})$ for some $r_0 \in (0, \rho_{\lambda}) \cup (0, \overline{\rho_{\lambda}})$. (We did not need study this situation precisely for the proof of Theorem 1.2.)

References

- [1] J.P. Aubin, A. Cellina: Differential Inclussions. Springer-Verlag, Berlin, 1984.
- [2] M. Bosák, M. Kučera: A bifurcation of periodic solutions to differential inequalities in R³. Czechoslovak Math. J., 42 (117) 1992, 339-363.
- [3] J. Eisner, M. Kučera: Hopf bifurcation and ordinary differential inequalities. To appear in Czechoslovak Math. J.
- [4] J. Guckenheimer, P. Holmes: Nonlinear Oscilations, Dynamical Systems and Bifurcations of Vector Fields. Springer-Verlag, New York, Berlin, Heidelberg, Tokyo, 1983.
- [5] M. Kučera: Bifurcation of periodic solutions to ordinary differential inequalities. Proceedings of the Colloquium on Differential Equations, Budapest 1991. To appear in Colloquia J. Bolyai Math. Soc.
- [6] J. E. Marsden, M. McCracken: The Hopf Bifurcation Theorem and Applications. Springer, Berlin, 1976.
- [7] M. Pazy: Semi-groups of nonlinear contractions in Hilbert space. Problems in Nonlinear Analysis (C.I.M.E, IV Ciclo, Varenna, 1970), Edizioni Cremonese, Rome, 1971, 343-430.

Recent publications of the Institut für Angewandte Analysis und Stochastik

Preprints 1993

- 60. A. Bovier, V. Gayrard: Rigorous results on the Hopfield model of neural networks.
- 61. M.H. Neumann: Automatic bandwidth choice and confidence intervals in nonparametric regression.
- 62. C.J. van Duijn, P. Knabner: Travelling wave behaviour of crystal dissolution in porous media flow.
- 63. J. Förste: Zur mathematischen Modellierung eines Halbleiterinjektionslasers mit Hilfe der Maxwellschen Gleichungen bei gegebener Stromverteilung.
- 64. A. Juhl: On the functional equations of dynamical theta functions I.
- 65. J. Borchardt, I. Bremer: Zur Analyse großer strukturierter chemischer Reaktionssysteme mit Waveform-Iterationsverfahren.
- 66. G. Albinus, H.-Ch. Kaiser, J. Rehberg: On stationary Schrödinger-Poisson equations.
- 67. J. Schmeling, R. Winkler: Typical dimension of the graph of certain functions.
- **68.** A.J. Homburg: On the computation of hyperbolic sets and their invariant manifolds.
- 69. J.W. Barrett, P. Knabner: Finite element approximation of transport of reactive solutes in porous media. Part 2: Error estimates for equilibrium adsorption processes.
- 70. H. Gajewski, W. Jäger, A. Koshelev: About loss of regularity and "blow up" of solutions for quasilinear parabolic systems.
- 71. F. Grund: Numerical solution of hierarchically structured systems of algebraic-differential equations.
- 72. H. Schurz: Mean square stability for discrete linear stochastic systems.
- 73. R. Tribe: A travelling wave solution to the Kolmogorov equation with noise.
- 74. R. Tribe: The long term behavior of a Stochastic PDE.

- 75. A. Glitzky, K. Gröger, R. Hünlich: Rothe's method for equations modelling transport of dopants in semiconductors.
- 76. W. Dahmen, B. Kleemann, S. Prößdorf, R. Schneider: A multiscale method for the double layer potential equation on a polyhedron.
- 77. H.G. Bothe: Attractors of non invertible maps.
- 78. G. Milstein, M. Nussbaum: Autoregression approximation of a nonparametric diffusion model.

Preprints 1994

- 79. A. Bovier, V. Gayrard, P. Picco: Gibbs states of the Hopfield model in the regime of perfect memory.
- 80. R. Duduchava, S. Prößdorf: On the approximation of singular integral equations by equations with smooth kernels.
- 81. K. Fleischmann, J.F. Le Gall: A new approach to the single point catalytic super-Brownian motion.
- 82. A. Bovier, J.-M. Ghez: Remarks on the spectral properties of tight binding and Kronig-Penney models with substitution sequences.
- 83. K. Matthes, R. Siegmund-Schultze, A. Wakolbinger: Recurrence of ancestral lines and offspring trees in time stationary branching populations.
- 84. Karmeshu, H. Schurz: Moment evolution of the outflow-rate from nonlinear conceptual reservoirs.
- 85. W. Müller, K.R. Schneider: Feedback stabilization of nonlinear discrete-time systems.
- 86. G.A. Leonov: A method of constructing of dynamical systems with bounded nonperiodic trajectories.
- 87. G.A. Leonov: Pendulum with positive and negative dry friction. Continuum of homoclinic orbits.
- 88. R. Lauterbach, J.A. Sanders: Bifurcation analysis for spherically symmetric systems using invariant theory.